Measure Mass

Measure Mass

1a. The applez weigh 2 blocksz each.

O O

@&

Draw the blocks to balance the scale.
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1b. The carrotz weigh 4 blocks each.
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Draw the blocks to balance the zcale.
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2a. If the plum weighs 4 blocks, how
much does the pear weigh?
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2b. If the grapes weigh 3 blocks, how
much does the kiwi weigh?

Q=)
P
4 I
4 W

|y

Ja. Kim weighs objects. She says,
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The toy iz heavier than 3
blocks.
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Iz she correct? Explain your answer.
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3b. Tom weighz objects. He zays,
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blocks.
Iz he correct? Explain your answer.
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